KR : ARILNSAKSUT, B #AK, KiR: 2

20 Ix

~ 0.
015
0.2

20

B
50~
[ed/m]

10 Ix

0.15

| 05
0.75
1.0

- 30

50~
[ed/m]

EEIEE : 0.22 cd/m?
BEDIEE : 0.21 cd/m2
KARDIEE : 0. 12 cd/m2

20 FEREFDIERE : 0.17 cd/m2

EENEE :0.12 cd/m?
BEDFERE : 0.16 cd/m2
KIRDIERE : 0.08 cd/m?

20 ERFHOREE : 0. 11 cd/m?

LEyEE - 0.08 cd/m?
BEDIERE : 0.09 cd/m2
KIRDFIEE : 0.07 cd/m2

20 FEtREFDHERE - 0. 08 cd/m2

ESVEE - 0.07 cd/m2
BEDIERE : 0.08 cd/m2
KIRD¥EE - 0. 07 cd/m2

20 EREDOFEE : 0.07 cd/m?



EENEE . 0.81 cd/m?
EEDFERE : 0.30 cd/m?
KARDFIERE : 0.59 cd/m?

20 FEREFDIERE - 0.61 cd/m?

ESVEE - 0.43 cd/m2
EEDYERE : 0.17 cd/m2
KIRDIERE : 0.32 cd/m2

20 EREOEE - 0.33 cd/m2

EEWEE : 0.23 cd/m?
BEDIERE : 0.10 cd/m2
KIRDFIEE : 0. 17 cd/m2

20 EREDOFEE : 0.18 cd/m?

ESVEE - 0.12 cd/m2
BEDIERE : 0.07 cd/m2
KIBDKEE : 0.09 cd/m?

20 EREDOFEE : 0.10 cd/m?




C REARIL, KAk : E

~ 0.1
0.15

03
05
0.75
1.0
15

30
50~

[ed/m]

EHEE : 0.80 cd/m?
BEDIERE : 0.23 cd/m2
KIRDFEE : 0.12 cd/m2

20 EREFDIEE : 0.58 cd/m?

EENEE : 0.44 cd/m?
BEDYERE - 0.15 cd/m2
KIRDIEE : 0.08 cd/m2

20 EREBOEE : 0.32 cd/m2

LEEIEE - 0.24 cd/m?
BEDFERE : 0.10 cd/m2
KARDFIERE : 0.07 cd/m2

20 EREFDIERE : 0.18 cd/m?

EErERE : 0.13 cd/m?
BEDFERE : 0.08 cd/m2
KIBRDKEE : 0.06 cd/m?

20 EREOFEE : 0. 11 cd/m?





